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BiE o £k
A 10 14 24
I8 & R 1 1 2
LIRS 1 0 1
chIE 58 9 2 11
TIREE 12 2 14
BB 71 9 80
B 165 66 231
INB 9 4 13
N 206 132 338
AIF9/BIP9E 0 1 1
FF gk 19 11 30
fEE-BE 17 10 27
FEE i 39 37 76
HxEE 9 1 10
fiti 198 75 273
B ERER 1 2 3
R IE 37 22 59
LE 2 164 166
2402 - 2 2
F=EHE - 50 50
F = KSR - 39 39
¥= - 0 0
OnE - 31 31
HIISLIR 130 - 130
ER 5 - 5
B 28 12 40
RoE Bt 51 15 66
BH-RE 15 11 26
Axi i 10 18 28
FRAKRR 2 14 16
C U PIAYE 46 45 91
2Rt B HE 13 3 16
=fikES 23 16 39
fth D M0 % 19 16 35
ZDith 24 19 43
&t 1,172 844 2,016
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2. BRI B EREIS
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BiE o £k
A 0.5% 0.7% 1.2%
I8 & R 0.0% 0.0% 0.1%
L+ IREE 0.0% 0.0% 0.0%
thR 58 0.4% 0.1% 0.5%
TIEEE 0.6% 0.1% 0.7%
BB 3.5% 0.4% 4.0%
B 8.2% 3.3% 11.5%
NG 0.4% 0.2% 0.6%
N 10.0% 7.0% 17.0%
AIF9/RIFE 0.0% 0.0% 0.0%
FF gk 0.9% 0.5% 1.5%
fEE-BE 0.8% 0.5% 1.3%
FEE i 1.9% 1.8% 3.8%
HxEE 0.4% 0.0% 0.5%
i 9.8% 3.7% 13.5%
B EER 0.0% 0.1% 0.1%
R IE 1.8% 1.1% 2.9%
LE 0.1% 8.1% 8.2%
2402 - 0.1% 0.1%
F=SEE - 2.5% 2.5%
F = KSR - 1.9% 1.9%
¥= - 0.0% 0.0%
OnE - 1.5% 1.5%
HIISLIR 6.4% - 6.4%
ER 0.2% - 0.2%
B 1.4% 0.6% 2.0%
RoE Bt 2.5% 0.7% 3.3%
BH-RE 0.7% 0.5% 1.3%
A 4% 0.5% 0.9% 1.4%
FRAKRR 0.1% 0.7% 0.8%
=Y \fE 2.3% 2.2% 4.5%
2Rt B HE 0.6% 0.1% 0.8%
=fikES 1.1% 0.8% 1.9%
fthop M % 0.9% 0.8% 1.7%
ZDith 1.2% 0.9% 2.1%
&t 58.1% 41.9% 100.0%
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